MAC / MAD %1

JHERFE ET23 mindman

MACR 5l —a aspmmss
SE{REI—M8, M10, M12 S7LE—M14, M20, M25, M36 E{7E S ILETR—MAC-2050

M8 ~ M1075 B 71 il i skl - M1275 % 75 % TR ARER MDA o £ FBRATIR S TUE SRR E RO

FLIERE AR 08 380 2 AL FIRIRE > SR ARG 1 TE B L o S5 R A R B B o
BEARATER » S0 BRSBTS

FEHUBERINE 1L -

MAD % 5l —za e #ynmnse MACE gh#BER 5!

B f| FEERY ZALIAEEE— M42 #[iEE MACD-2030

MAD-1410£3 i 51 34 % (3% & - MAD- % AL ARG R E AR R R & FLIE E ARG AT
2016 ~ MAD-2525 - MAD-2540%1 MAD- A - Pl A o

365055 % FL A B R AT BOE 6 B K
¥ o TIFHEETIAE - AEMEF B EBEL -

AR
MAC — 0806 — 1 — [
— L
MAD : T35 5\ IME 2 thiii A
MAC : % 7LFE] & ¢ (mm) 3 : {3

MACD : & e #Zfl7=\

J=za I - B R
178 N : 4 2 5



MAC / MACD &s#iifishie

JHERFE ET23 mindman
MAC/MACD—E B &h##{EThaE

x AW | BAH i
i T | men | e | EEE | e

1] 0 faf HEH=
B A | L k| KB | M) © = (SC)
(kgf) (Nm) (m/s)
MAC-0806 0.5~6 2 0.5~2.0 (@) @) - O
MAC-1005 1~7 3 0.8~3.5 (@) (@) = (@)
MAC-1008 2~9 4 0.8~3.0 (@) O - O

MAC-1210 ﬁ% 5~30 5 0.8~3.0 0 o) - o)
w05 |
- _
MAC-1412 %&@5@ 8~100 15 0.8~3.0 0 0 - 0

L—. 98.7 -——J
~| 16 '— =
MAC-1416 10~150 20 0.8~3.0 0 o = ¢)
L—— 121.7 ___.J
20 M14x1.5
N2 -
MAC-1420 U= —41d 12160 | 25 | 0.8~3.0 o o - o
125.7——]
M20x 1.5
el
MAC-2020 30~700 40 1.0~3.5 0 o - ¢)
L— 146.8 ——l
30 M20x 1.5
a {I H H |
MAC-2030 A= — {3 30~700 | 50 1.0~3.5 o 0 - o)
154.84—J
M20x1.5
50
MAC-2050 e}—%ﬁ 600~1200 | 60 1.0~3.5 = o - ¢)
l— 233.8 __.I
{25 M25X15
MAC-2525 200~1500 | 80 1.0~4.0 - 0 - o)
L— 156.5 —————I
M25x1.5
MAC-2540 300~2000 | 120 1.0~4.0 - o = o
MAC-2550 15~160 98 1.0~4.0 O ) - O
MAC-2580 20~200 150 1.0~4.0 o ) - )
_-1 60 '—- M36x15
MAC-3660 400~2400 250 1.0~4.0 - O ) )
L— 241.8——-]
M20x1.5
- 30 p
MACD-2030 40~900 45 1.0~3.5 - O - ©

L—1 BG.S—-I




MAC / MACD g%

JHERFE ET23 mindman
Bl
o 58| Ko | p B | oo | e | TRgiwE | mR
(mm) Nm) (Nm) (kgf) (mis) () ()
MAC-0806-1 6 2 8800 0.5 2.0 -10~80 1
MAC-0806-2 6 2 8800 2.0 1.0 -10~80 11
MAC-0806-3 6 2 8800 6.0 0.5 -10~80 1
MAC-1005-1 5 3 10800 1 3.0 -10~80 14
MAC-1005-2 5 3 10800 3 15 -10~80 14
MAC-1005-3 5 3 10800 7 0.8 -10~80 14
MAC-1008-1 8 4 15200 2 3.0 -10~80 20
MAC-1008-2 8 4 15200 4 15 -10~80 20
MAC-1008-3 8 4 15200 9 0.8 -10~80 20
MAC-1210-1 10 5 17640 5 3.0 -10~80 315
MAC-1210-2 10 5 17640 10 15 -10~80 315
MAC-1210-3 10 5 17640 30 0.8 -10~80 315
MAC-1412-1 12 15 30000 8 3.0 -10~80 80
MAC-1412-2 12 15 30000 50 15 -10~80 80
MAC-1412-3 12 15 30000 100 0.8 -10~80 80
MAC-1416-1 16 20 35000 10 3.0 -10~80 90
MAC-1416-2 16 20 35000 70 15 -10~80 90
MAC-1416-3 16 20 35000 150 0.8 -10~80 90
MAC-1420-1 20 25 40000 12 3.0 -10~80 95
MAC-1420-2 20 25 40000 80 15 -10~80 95
MAC-1420-3 20 25 40000 160 0.8 -10~80 95
MAC-2020-1 20 40 40000 30 35 -10~80 215
MAC-2020-2 20 40 40000 200 2.0 -10~80 215
MAC-2020-3 20 40 40000 700 1.0 -10~80 215
MAC-2030-1 30 50 48000 30 35 -10~80 220
MAC-2030-2 30 50 48000 200 2.0 -10~80 220
MAC-2030-3 30 50 48000 700 1.0 -10~80 220
MAC-2050-1 50 60 60000 60 35 -10~80 300
MAC-2050-2 50 60 60000 400 2.0 -10~80 300
MAC-2050-3 50 60 60000 1200 1.0 -10~80 300
MAC-2525-1 25 80 70000 200 4.0 -10~80 330
MAC-2525-2 25 80 70000 800 25 -10~80 330
MAC-2525-3 25 80 70000 1500 1.0 -10~80 330
MAC-2540-1 40 120 75000 300 4.0 -10~80 430
MAC-2540-2 40 120 75000 1200 25 -10~80 430
MAC-2540-3 40 120 75000 2000 1.0 -10~80 430
MAC-2550-1 50 98 90000 15 4.0 -10~80 435
MAC-2550-2 50 98 90000 40 2.5 -10~80 435
MAC-2550-3 50 98 90000 160 1.0 -10~80 435
MAC-2580-1 80 150 120000 20 4.0 -10~80 535
MAC-2580-2 80 150 120000 50 2.5 -10~80 535
MAC-2580-3 80 150 120000 200 1.0 -10~80 535
MAC-3660-1 60 250 120000 400 4.0 -10~80 1030
MAC-3660-2 60 250 120000 1500 25 -10~80 1030
MAC-3660-3 60 250 120000 2400 1.0 -10~80 1030
MACD-2030-1 30 45 55000 40 35 -10~80 220
MACD-2030-2 30 45 55000 300 2.0 -10~80 220
MACD-2030-3 30 45 55000 900 1.0 -10~80 220




MAD vwf#%he

JHERFE ET23 mindman

MAD * 5Bl iHEIhse

f‘xkgiﬁ RN | R AR

I# € B o
1) 8 . i HE& e LD | A SR o TE NI
ﬁil. JL 91‘@){'* A q:géfﬁ* Kl 7 (N) (C) i(F;;K (SC) &
(kgf) (Nm) (m/s)

M14x 1.5

~f1op-
MAD-1410 EEE@:IQEEI 80 20 3.0 0 0 - o

109.2
98.5 (MAD-1410N)

M20x 1.5

ok
MAD-2016 ﬂ%ﬂ%@ 200 25 35 o o = o

149.5
133 (MAD-2016N)

M25x1.5

MAD-2525 400 85 35 - 0 - 0
143.5 (N:ES—ZSZ5N)
M25x 1.5
il
MAD-2540 +H§% 700 100 3.5 - o) - o)
2238 ——I
r.SO -[ M36x 1.5
MAD-3650 @@ 1400 300 3 - 0 o o
L—-ZAO.B ——-l
M42x1.5
MAD-4225 3000 260 35 - 0 o -
MAD-4250 4000 500 45 - 0 o -
MAD-4275 6000 750 45 - 0o 0 -

=74 5 MAD-64050 « MAD-64100 « MAD-64150%4 275

BIREFR -

- K 1N . e o -
MAD-1410N 10 20 25000 80 3.0 -10~80 84
MAD-1410 10 20 25000 80 3.0 -10~80 90
MAD-2016N 16 25 30000 200 3.5 -10~80 222
MAD-2016 16 25 30000 200 3.5 -10~80 230
MAD-2525 25 85 54000 400 3.5 -10~80 335
MAD-2525N 25 85 70000 400 3.5 -10~80 350
MAD-2540 40 100 80000 700 3.5 -10~80 455
MAD-3650 50 300 100000 1400 3 -10~80 1100
MAD-4225 25 260 125000 3000 3.5 -10~80 1280
MAD-4250 50 500 150000 4000 4.5 -10~80 1490
MAD-4275 75 750 180000 6000 4.5 -10~80 1710




MAC 35 Bt 25 s umac-kzs1

JHERFE ET23 mindman

\N

\}‘\'\‘.\\ﬁ\*‘m‘:‘\\:\\\;\|l\;\“““ ' %
SRR Y 4
“\V‘\\“\‘\‘\\\'\f\‘\\\\\\“““\‘ . .
) an
SRR
WU
i
A
2]

Wik &‘h‘

= X BPNEE | S | IR O | TR it
gk R AR | SRR s = e
i) e e (kg ) (mis) (€) (@)
MAC-1415-7K 15 9.8 35,280 15 1.5 -10~80 80
MAC-1415-8K 15 9.8 35,280 7 2 -10~80 80
MAC-1415-9K 15 9.8 35,280 3 3 -10~80 80
MAC-2030-4K 30 44 26,460 120 0.9 -10~80 185
MAC-2030-5K 30 44 26,460 60 1.2 -10~80 185
MAC-2030-6K 30 44 26,460 30 1.7 -10~80 185
MAC-2030-7K 30 44 26,460 15 2.4 -10~80 185
MAC-2030-8K 30 44 26,460 8 3.3 -10~80 185
MAC-2030-16K 30 44 26,460 5 4.2 -10~80 205
MAC-2030-18K 30 44 26,460 3 6.0 -10~80 205
MAC-2050-10K 50 59 35,280 60 14 -10~80 250
MAC-2050-11K 50 59 35,280 30 2 -10~80 250
MAC-2050-12K 50 59 35,280 15 2.8 -10~80 250
MAC-2050-13K 50 59 35,280 8 3.8 -10~80 250
MAC-2050-16K 50 59 35,280 5 5.0 -10~80 235
MAC-2050-17K 50 59 35,280 3 6.8 -10~80 245
H | SRR
MAC-2030-4K N /o
MAC-2030-5K S— . l
MAC-2030-6K o ; = - e
MAC-2030-7K L = =+
—
MAC-2030-8K L G F
E [RRES B
A
ﬂ\__|- SHERL
MAC-2030-16K —a— =
MAC-2030-18K o F = i Z - q‘%
e | P
E 1772 ! B
A




MAC sl 25 smmac-kzs)

3 = T2 4 .
JHERFE ET23 mindman
7355 BN 7t2 A B c D E F G H I
(mm)
MAC-1415-7K | M14x15 15 952 | 695 12 35 | 107 53 2 19 6
MAC-1415-8K | M 14x15 15 952 | 695 12 35 | 107 53 2 19 6
MAC-1415-9K | M14x15 15 952 | 695 12 35 | 107 53 2 19 6
MAC-2030-4K | M20x1.5 30 | 1325 | 86 18 5 16.5 48 21 26 8
MAC-2030-5K | M20x15 30 | 1325 | 86 18 5 16.5 48 21 26 8
MAC-2030-6K | M20x15 30 | 1325 | 86 18 5 16.5 48 21 26 8
MAC-2030-7K | M20x15 30 | 1325 | 86 18 5 16.5 48 21 26 8
MAC-2030-8K | M20x15 30 | 1325 | 86 18 5 16.5 48 21 26 8
MAC-2030-16K| M20x15 30 | 1442 | 86 18 5 16.5 48 | 327 26 8
MAC-2030-18K| M20x1.5 30 | 1442 | 86 18 5 16.5 48 | 327 26 8
MAC-2050-10K| M20x1.5 50 | 2205 | 156 17 5 145 | 136 3 26 8
MAC-2050-11K| M20x1.5 50 | 2205 | 156 17 5 145 | 136 B 26 8
MAC-2050-12K| M20x1.5 50 | 2205 | 156 17 5 145 | 136 3 26 8
MAC-2050-13K| M20x1.5 50 | 2205 | 156 17 5 145 | 136 3 26 8
MAC-2050-16K| M20x1.5 50 | 2205 | 156 18 5 145 | 136 3 26 8
MAC-2050-17K| M20x1.5 50 | 2205 | 156 18 5 14.5 57 3 26 8
H SR I
MAC-1415-7K B
MAC-1415-8K .
MAC-1415-9K
o + —+ -+ — -
G F
E 172 B
A
H SHIEHL |
MAC-2050-10K N —/\
a )\ —
MAC-2050-11K T —
MAC-2050-12K | [[T] = - - ’Z
MAC-2050-13K I — -
MAC-2050-16K E ke B
A
H | SR
o /
MAC-2050-17K OI T _ 2\ ‘*E%— B B
< F I
E 7 ' B
A




MAC 39 pshts 25 snvac-ssi

JHERFE ET23 mindman

A&
— (5274 (%N = 2 e 3 N
pitlEr 1712 TR e IR NERAER | i Iﬂﬂl@ﬁ;gﬁ@ HiE
(mm) o o (kef) (mis) (c) ©

MAC-0806-SN 6 3 7,000 6 0.3-2.5 -10~80 15
MAC-0806-S 6 3 7,000 6 0.3-2.5 -10~80 17
MAC-1007-SN 7 6 12,400 12 0.3-3.5 -10~80 25
MAC-1007-S 7 6 12,400 12 0.3-3.5 -10~80 28
MAC-1210-SN 10 12 22,500 22 0.3-4.0 -10~80 29
MAC-1210-S 10 12 22,500 22 0.3-4.0 -10~80 32
MAC-1412-SN 12 20 33,000 40 0.3-5.0 -10~80 65
MAC-1412-S 12 20 33,000 40 0.3-5.0 -10~80 70
MAC-2015-SN 15 59 38,000 120 0.3-5.0 -10~80 150
MAC-2015-S 15 59 38,000 120 0.3-5.0 -10~80 160
MAC-2525-SN 25 80 60,000 180 0.3-5.0 -10~80 295
MAC-2525-S 25 80 60,000 180 0.3-5.0 -10~80 280
MAC-2725-SN 25 147 72,000 270 0.3-5.0 -10~80 360
MAC-2725-S 25 147 72,000 270 0.3-5.0 -10~80 375

FEFH R « EAR YRR FEFI#EB - SRR &




MAC a8h#iE 25 wmmac-s%)

: B ¢ 4F -
JHERFEET 23 mindman
H S L
] (]
o N _ _ _ _
] ]
;_ (.
|G F -
E i B .
i . =
UL BRI (FE: A B c D E F G H I
(mm)
MAC-0806-SN M8x1.0 6 -- 40.6 - 2.8 - 33.6 2 1" 3
MAC-0806-S M8x1.0 6 55.2 40.6 6.6 2.8 8.6 33.6 2 1 3
MAC-1007-SN M10x1.0 7 - 47 - 3 - 39 3 12.7 3
MAC-1007-S M10Xx1.0 7 62.6 47 8.6 3 8.6 39 3 12.7 3
MAC-1210-SN | M12x1.0 10 - 50 = 3 - 455 - 14 4
MAC-1210-S M12%x1.0 10 67 50 10.3 3 7 45.5 - 14 4
MAC-1412-SN M14x15 12 - 67 - 4 - 58 4 19 6
MAC-1412-S M14x1.5 12 90 67 12 4 1 58 4 19 6
MAC-2015-SN M20x1.5 15 - 73 - 6 - 62 4 26 8
MAC-2015-S M20x1.5 15 103 73 18 6 15 62 4 26 8
MAC-2525-SN M25%x1.5 25 - 92 - 8 - 82 - 32 10
MAC-2525-S M25%x1.5 25 130 92 22.8 8 13 82 - 32 10
MAC-2725-SN | M27x15 | 25 - 1 - 8 - 9 5 36 6
MAC-2725-S M27%x1.5 25 154.8 111 22 8 18.8 96 5 36 6

FE IR - U BT




	訂購代號
	MAC / MACD 規格
	MAC / MACD 規格
	MAD 規格
	MAC-K 規格
	MAC-K 規格
	MAC-S 規格
	MAC-S 規格

